19 T A9 g TRIETT; YFRTHT @iel B 7 H8T ST 76 I 7 @hel |

@is : ZPSB-02 2017 g 2437660
_ﬁFSRI: ' |

ATHTY 3T — |

D

W‘%Hg?nc-//ﬂw@lgpmgiagrm_m cQ in/ Ti®:200

E g Ll_ubt}k}ol-l o S o j § ; s "
| AT I A dlRa S sl i :
e fordd NEa k]

71 5 WTR & ford ot Bt Sie-ETEe A9 H HETa |
STl SRR - TR SR 4 W e ol ot Y wawr e v o |
WWWWWB‘W-WW@%#%uﬂm%wmwamaﬂqamﬁﬁmaﬁﬁqéz

| | et srge

1 el T SIS IRy FomwAE e

STR-UAE TR AT AT Sepien, Ava, 7e-u3 37 98 P vd 99w ifa v

3. =¥ wierr gRreT ¥ 100 I § | WS MR F TR (4) Sopfore SeR Ry e # | anwedi wd
SR TS HY §U ST A Fal 7o el S1dT 9961 B STR-T9F R B afq-@Ee 9
A RITET B | T 9 31fe S 2 &) 5 3 39 & TR o) 7Tl FET S0 0 9
ST e T | :

|4 I D Sreral TET YRRIT & FaR o TR 50 T R | 39 aremaT T gide

& IR AR PO T fored | A A1y b R @R TR, 9 oy Frderss 2 af oie w

939 W afod gEd W o | o

5. e YIRIaT Wier o QR ATE SiTd v 3w o fob wveror gfkyent 3wt ey ey
BY Y ¥ | 4f wierer gk § o w4 g, 9 Prdlers @) ey s @ 7 3re 3

RtpsTdevelopindiagroup.co.in/
ST T MBI UE YRIETT GIRTBT GIer ) 7 HET oY 79 a% 7T @l |

Note : English version of the instructions is printed on the back cover of this Booklet.

zess-co-D | IININNARAND




https://developirs %{ggrg&qqmscqp.in/

.-

3. Mental connection between the data and

4. Intuitive decision making is

5. Which one of the following is the final

As  against using established ruleg in | 6.
Ieasoning, the decision making process |
~involves :

(a) Cluster of other rules

(b) Uncertainty

{c) Reliable information ")

" 7
(d) None of the above
2. Consider this statement : L
Courts  take too lop g in deciding
important disputes of various
departments. 8

Which one of the following course of

actions is most appropriate ?

Select your answer from the codes given

below :

1. Courts should take special measures
to speedup decisions.

2. Special powers should be given to
officers to settle disputes concerning
their departments.

Codes :

{c) both1 and Neither 1 nor 2

conclusion is called
(a} illustratingg (b} inferring
(¢} elucidating (d) illumination

(a) not utilized in organizations.

(b) a- conscious - process based on
accumulated judgement. 10.

(¢) making decision based on experience,
teelings and accumulated Judgements.

(d) important in supporting escalation of
commitment,

step in the decision making process ?

(a) Identifying the problem. il1.
(b) evaluating the decision’s | -
- effectiveness. :

(¢) identifying decision criteria.
(d) selecting an alternative that can
resolve the problem. B

sied  https:// deVelopindi

How many times will the digit 5 come in
counting from 1 to 99 excluding those
which are dj visi‘l%@l 2

(@) 13 ST 142

) 15 d) 20

Complete the sequence with the correct

option from the following codes -

LEEMA, 2,9, k4

(a) M,J,] (b) F,M, M

(c) JA A® (d) A F,F

A well defined problem has the following

characteristics ; ,

(a) Initial state, problem space, heuristic
and operations. _

(b) Initial state, Goal state, Operations
and controls. ;

(¢) Mental set, Goal state, controls and
mental representations, @ﬁ

(d) Controls, functional fixedness,
operators and problem 8&1{:

(a) only1 llgttgs‘}:ly{ydeve @pin d gﬁl"QMpﬂ]gage'ﬁTo

find out the difference in their ages,

which of the following information is/are

sufficient ?

L After five years the ratio of their
ages would be 9 - 5.

1. Before ten years, the ratio of their

ageswas3:|.-
(a) Only]l (b) Only 11
(c) Eitherlorli (d) BothIandll
Which one of the following is not a type
of insight according to the three-process
view of problem soly ing ?
(@) Selective encoding
(b) Selective comparison

. () Selective storage @

(d) Selective combination

A father is nine times as old as his son
and the mother is eight times as old as the
son. The sum of father’s and mother’s
age is 51 years, What is the age of the
- son ?

(a) 7 years (b) 5 years

agrotip.cotinf=e,
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13.

14.

6.

17,

18.

Series-D

-Which one of the followmg ‘explains the

of the following we must look
toward making what we should do in a
communication interaction 2

(a) Constructive rule

(b) Constitutive rule

{¢) Disjunctive rule

{d) Regulative rule

In the communication process, which of
the following steps occurs. first ?

(a) Transmitting (b) ‘Decoding

(c) Undetstandmgs (d) Encodmg

skill - that facilitates interaction and
communication with others 7-

(a) Managerial skill

(b) Social skill

(c) Relational skill

() Pcrsuasneslﬂli

https://developindia

12. In whic

group.co.in/

For empathy which of the tfollowing
statement(s) is/are true ? ;

1. Empathy and sympathy both are

equal.

The ability of the person to

understand the feelings of othels is

called Empathy.

(a) 1only - (b) 2only

(¢) 1and?2both (d) Neither 1 nor 2

In communication, the most important

words are and :

(a) youand me (b) him and they.

(¢) vouand we (d) me and them

Non-verbal communication includes.

(a) Body language, facial expression
and tone.

(b) Gestures,
expressions.

(c) Minimal verbalization, Silence and facial
expression.

R

'B https://developingdig@ ey e

1at hus_mother is_the
daughter of A’
toB?
(a) Uncle
(c) Father

mothery how 1s A relatcd

(b) Sonwg
(d) Brother

Which one of the following is not a
positive communication vehicle ?

(a) Being more personal

(b) Immediate feedback to both parties
(¢) Tunnel vision

(d) Quick achievement of solution

Which remedy is used to overcome the
adverse impact of  the node in
communication ?

{a) Kinetics

(b) Paralanguage

(¢) Short eircuiting

() Tactile Lommumcamon

The process ot using the techmques for
narrowing choice is called

(a) Controlling  (b) Manatrement

A ak?ﬁ‘g /7c?fne”vela

pindidggronp

llowing 1s some time

consuming in interpersonal relationships ?
(a) Exchange taking place.
(b) Communication taking place.
(¢) Transaction taking place.
(d) Trust building taking place.
Which one of the following is an
unhealthy response to conflict resolution ?
(a) Recognising and responding to

important matters. '
(b) Inability to seek compromise.
(¢) A readiness to forget and forgive.

- (d) A belief that interest of both parties

can be protected.

Which one of the following is not used to

denote interpersonal relations ?

(a) People skills

(b) Soft skills

(c) Life skills

(d) Organizational skills -

Formal - guidelines = and = authority

hierarchies are examples of which

function of communication ?

(a) Control (b) Agreement
‘Organization (d) [nform"ltlz

SB-02
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Instruction for Question Nos. 46 to 50.
Read the following passage carefully and

answer the questions given at the end.

The great grammar of Panini which
_——-—_——_'—'-———-"

effectively stabilized the Sanskrit language,

presupposes the work of many earlier

grammarians. These had succeeded in

RESTo . o

recognizing the root as the basic element of a

word,

and had classified some 2000

monosyllabic roots which, with the addition of |
— —— . ;i

e

prefixes. suffixes, and inflexions were thought
2 w -
to provide all the words of the language.
Though the early etymologists were correct in
B . i ~
i M they made many errors and false
- —
derivations, and started a precedent. which
produced interesting results in many branches
L
of Indian thought. Though its fame is much
restricted by its specialized nature, there is no
doubt that Panini’s grammar is one of the
. o P
greatest intellectual achievements
ancient civilization, and the most detailed and
—
scientific grammar composed before the 19

century in any part of the world. 4
\,.«—/q‘-\'\_/

46.  Which grammar book is considered the

most scientific ?

(a) Pz‘mini’s‘ ’

(b) Patanjali’s

(¢) An unknown grammarian
(d) Katyana;‘s

Series-1¥
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47. Who made many errors and false -

derivations ?

{a) Panini

(b) Patanjali

(¢) The early grammarians _

(d) The later grammarians

48. Which is the basic element of a word ?
(a) Prefix
{b) Suftix
(¢} Root
(d) Inflexion
49. Fill in the blank in the given sentence :
The early et&:nologists devised principles
(a) which were partly correct
(b) which were partly incorrect
{ ;} which were correct

(d) which were incorrect

50. Fill in the blank in the following sentence :

Panini’s grammar gave to

Sanskrit language.
(a) instability

(b) stability

(c) ability

(d) inability

ZPSB-02
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51. Choose the correct passive voice of the
given sentence :
Why did you not give him proper advice ?
(a) Why he was not given proper advice*
by you ?
(b) Why proper advice did you not giver
him ? : 56.
(c) Why was he not given proper advice by
you ? '
(d) Why he was not given by you proper
advice.
52. Which part of speech is used in the
. underlined word ? " 57.
i He takes after his father.
13 (a) Adverb t t j
(e) C OIULlﬂLl(]h Q}Vel‘P
: 58.
53. Fill in the blank in the given sentence
choosing the correct option :
The rule is applicable everyone.
(a) for {(b) to
: 59,
(c) about (d) with 59
54, Change the following sentence into
indirect form :
He said, “Alas | 1 am undone.”
s ot % 60.
The correct option 1s :
(a) He lamented that he was undone.
(b) He exclaimed sadly that he was
undone.
(¢) He felt sorry to say that he is
undone,
(d) He repeated and said [ am undone.
7ZPSB-02

in/
Fl[Rﬂ (ti? blalnll;1 in the given sentence
with the correct preposition : '
[ have decided to give
(a) In

(c) away

drinking. .
(b) with
(d) up

Fill in the blank in the given sentence
with the correct prepositioﬁ.

At last,
support us.

he made his mind to

(b) a.m
(d) of

(a) with

{c) up

Find out the word incorrectly spelt.
(a) Permission (b) Ambition

(c) Admision (d) Submission

pindiagroup.co.in/

Choose the word which is opposite in

meaning to ‘odd’ ?
(a) queer (b) glare
(c) even (d) smart

Identify the synonym of ‘PLAUSIBLE’
from the following :

(b) Costly

(d) ‘ Probable

(a) Problematic
(c) Believable

Select the correct meaning of the idiom
trom the following :

Govind has left his country ‘for good’ :
(a) better opportunities

(b) forever

(¢) on an important mission

(d) to return soon

‘https://developindiagroup.co.in/**
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[f the propesition “No  Scientists are

Philosophers” is true, what can be

inferred about the truth or falsity of

the proposition “All Philosophers are

Scientists” ?

(a) True

{(b) Doubtful

(¢} False

(d) None of the above

Many people die on bed.

Do not, therefore, lie on bed.

[t involves the fallacy of

(a) Non-observation and
generalization

(b) Four terms

{¢) Coniposition

illicit

~(d) None of the above

So far, all the men with whom I have
come in contact, are selfish; why should 1
not infer, therefore, that man is selfish ?
it involves the fallacy of

(a) Petitio principii

(b) IMlicit geney
{c) Fourterms
(d) None of the abov

izatlon

tps: .//deve]

Assertion: {A) : Silver is not used to
make wires.

Reason (R) : Silver is bad conductor.

Select the correct answer from the code

given below :

(a) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(¢} (A)istrue, but (R)is false.

(d) Both (A) and (R) are false.

Which one of the following conclusions

can be validly drawn from the given set

of premises 7

1. All Pilots are brave men.

2. All Astronauts are pilots.

Conclusion :

{a) All Pilots are Astronauts.

{(b) All Astronauts are brave men:

{¢) Some Astronauts are brave men.

(d) No Astronauts are brave men.

66.

67.

68.

70.

71.

10.

https://developin

Thirteen is one number.
Six and seven are thirteen
Therefore six and seven are one number.
- This involves the fallacy of
(a) Composition
(b) Division
(¢) - Four terms
(d) None of'the above
Which one of the followmé, conclusions can
be validly drawn from the given statement

Statement : Every library has books.
Conclusion :

(a) No library is without books.

(b) Libraries are meant for books only.
(c) Books are only in library.

(d) Some libraries do not have readers.
All the works of Shakespeare cannot be

read in a day. Hamlet is a work of

Shakespeare. Therefore Hamlet cannot be
read in a day.

This involves the fallacy of

(a) Division

(b) Composition

Lopm&;@gm ip.co.in/

He must be an ucu,llent man for I have -

been - favourably
manner of talking.
It involves the fallacy of
(a) ignoratio elenchi

(b) Composition

(¢) Division

(d) licit generalization

impressed  with  his

Wine cannot be injurious to health, for if

it had been so doctors would not have
prescribed it. It involves the fallacy of

(a) Four terms ,

(b) Ignoratio elenchi

(c) Petitio principii

(d) Mlicit generalization

The University is the temple of learning,
and therefore, politics has no place in it.
It involves the fallacy of

(a) lgnoratio elenchi

(b) Four terms

(c) Bad analogy

(d) Division

dlagroup CO. 1n/
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64.
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(b) aqé%zmm:eﬂw (c) e
(c) (d) v o o = Tl
@ wﬁmﬁ%@ér@ : 69. % ¥ A= IHEST el B Hifh
FUE(A): AR SAM % fag =i I Ser % &0 & f eyt €
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FHAO(R) : Hidl FAEH ¢ | (a) I SN
FAifTRad e ¥ 8 I YT : | (b) &8
(a) (A)aﬂﬂ(R)aﬁm%ﬁt(R),(A) (c) femrg
Hﬁw% = . “d) e T
(b) (A) 7T (R) e
(A) 1 0 i T 2 o e e
()" (A) &= & fopeg (R) 316 B | S AR | %
(d) “(A) T (R) QI AR | | saﬁﬁi%aaﬁﬁ%:
FaETeR % fou e we & Pttt o (a) =g
ﬁﬁ:ﬁs&s&?éww%ﬁm% ? (b) =R
1. et R Teg e E | (c) FTeHIHE
2. wvi st faemmTers | (d) Y Fr=iER
ﬁﬁﬁ‘i: . ) E F: - Fﬁ—@ﬁ
(a) Tt eirsere: e S | b wﬁm%%%qgmﬂggl <
(b) wft Fraiterm sETg safh ¢ | Raadaed:
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other after Sunrise. If Raj’s shadow falls
to his left , then in which direction Ajay
1s going ?
{a) East

{¢) North

(b) West
(d) South @

In a queue of 90 people, Ratan is 15" to
the right of Pawan, who is 40" from left.
What is the position of Ratan in a queue
from right ?
(a) 41" @

(c) 19" )
C P

(d) 46"

If 18" February, 1997 falls on Tuesday,
then the day on 18" February, 2000 is

{a} Monday (b) Wednesday

(¢) Friday (d) Saturday g

Ramesh is 15" from either end of a row
of boys. The number ot boys in the row is
{a) 25 (b) 29@&

(¢) 30 (d) 31

“If in a certain code ALMIRAH is written

as BNPMWGO, then which of the
following "code would be written for
DNRWLUA ?

(a) COSGOLT (b) TOGSOLC

(c) CLOSGOTe@ (d) TOGCLOS

The object of war is durable peace.
Therefore the soldiers are the best peace
makers. This involves the fallacy of

(a) Petitio Principii

{(b) Four terms

(¢) [llicit generalizations

{(d) -Division

‘Hate’ is related to ‘love’ in the same

 way as ‘create’ is related to

(a) Make
{c) Destro_yi

(b) Remove
(d) Build

Select the one which is different from the
other three ?

(a) Addition (b) Subtraction

“{¢) Multiplication (d) Fractiong

Five clocks sing at an interval of 3, 4, 5,
6 and 7 seconds respectively. After how
much time they will ring together once
they ring together at same time ?

(a) 3 minutes 30 second

{b) S minutese

(¢} 7 minutes

{d) 6 minutes

pin
81.

- . Raj and Ajay are coming towards each

82,

84.

https://developindiagroup.co.
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‘Arrange the following in ascending order

and give the correct answer from the
following code : :

L A2 . i3
. e Iv. 5

Codes : 8
(a) L II, IV and [I'(b)
(¢) ILLMandIV (d)

L 1L, T and IV
L, L, T and 1V

Find out the number of triangles in the

following diagram :
i A

; o
(a) 6 (b) 9@
(c)- 10 (dy 12

Find out the missing number :

!

Tr(b)"

(a) 8
(¢) 10 (d) 13¢

Examine the following three figures in
which the numbers follow specific

pattemn : :

g e ‘?\L\
The missing number (?) iK the third
figure is

(a) 8 ) 4
(c) 2 ) T4
Find out the missing number :
8 - 10 12
S
(D (Do u ()
8 7 ?
The missing number is
(a) 7% (b) 8
(c) 10 (d) 16

* ZPYB-02
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T = 7, A 3 fha R iy 7

(a) @ (b) wfEm

(¢) 3 (d)y sféqor

90 Safe=It 61 Ufve o @, v ¥ el |54t

2, I a¢ ¥ 409 wore w R | ufes i 28
VTR FR 7

(a) 4197 (b) 3591 (c) 1941 (d) 46af

G 18 wEl, 199R WerEr o, A

18 BiEll, 20001 8 :

(2) HEER (b) IR

(c) IFFIR (d) sfEm

TEeh! H T ufe T 1 B & 1597

& | Uit 3§ orgmi B gend

(a) 25 (b) 29 (¢) 30 (d) 31

I et Bfesa e § ALMIRAH =Y

BNPMWGO feran simar 2, at fr=ifiRes

g & 58 Fle % DNRWLUA ¥ R

TSI gRaE 7

(a) COSGOLT (b) TOGSOLC

(¢) CLOSGOT (d) TOGCLOS

REEaRGto kIR =

T A et Wik R A § )

(a) HATCHEHY

(b)

(c) =R

(d) T ;

T N Y 3 TR el 2 R v
(a) THEH (b) TR
(d) Fmfor g

(a) S0 (b) T (c) W (d) R

T wfeat S 3, 4, 5, 6 31 7 depvs
HE Wt 7 | e aw v oy
wo % foRart o a1g TR ws mme—any
S 2

(a) 3fFe 30 Yevg

(b) 5Te

(c} 7
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frforfaa =t s s & sqafer i
QLIS LTt S bl
Loz B

. 36 v. 35

% :

(@) LILIVETI (b) I, L 1971V
(c) IL LTIV (d) 1L, L, |1V

frfofan sl o Bt A der s
Hie ;

A
Q
Jr
B C
(a) 6 (b) 9
(c) 10 (d) 12
T ST T SHIAT -

(a) 8 (b) 9
(c) 10 (d) 13
fefafea = Rt %1 wdm St B
el e fafeer et w1 v st £
5 6 | B
4 6 5 7 8 6
et (o) A a3
(a) 8 (b) 4
(c) 2 (d) 7
8

10 12
4@5 910 14@15
8 7 ?

(a) 47 b) 8 s
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86. Sm}pleat ’rmm of
£ 1 ik
x+ l N R E T | 15
(a) \ — 1w (b) x+1
(c) x 24 x4+ 1 (d) 1
87. The roots of the equation
9y ~Rx+81=0
will be equal. if values of R are
(@) £9 (b) 27
(c) t18@ (d) £54
88. Ifx +l‘ 5, the value of x* + 1 7 1s equal
to
(a) 6256 (b) 617
(e)- 527 (&) 525
89. Consider the following numbers :
1. Every irrational number is a real
number.
2. Every real number is rational number.
3. Every rational number is a real
number. _
4. Every integer is a real number.
Which of the above statements are
sgorreet ? '
(a) 1,2and 3% (b)y I,3and4
(¢) 2and3only (d) 3 and4 only
90. A person bought apples at the rate of 25
apples in ¥ 20 and sold them at the rate of
20 apples in T 25. Profit in percentage is
(a) 36.25% (b) 46.25%
(c) 50% (d) 56.25%e
91. A certain sum of money in three years
becomes thrice on compound interest. In
how many years it will be 9 times ?
(a) 6 years (b) & years.
(¢) 9 years@® (d) 12 years
92, Consider the following statements :
1. x+3isdfactor of x3 +2x% +3x+8
2. x—2isafactor of x>+ 2x2 +3x+ 8
Which of the statements given above
is/are correct ?
(a) onlyl #
(b} only2
(c) bothland2
(d) Neither | nor 2
Series-D
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93.

94.

03,

96.

97.

98.

99,

100.

Discrete and contmuous variables are the
two types of

{a) Open end 013531f1cat1011

(b) Time series classification

(¢) Qualitative classification

(d) Quantitative classification®

A circle in which sectors represent
various quantities is called

(a) Histogram

(b) Frequency Polygon

(¢) Pie-chartg

(d) Component bar chart

The lower and upper limits of a class. in
& frequency distribution, are 10 and 40

respectively, then the mid-point of that -

class is
(a) 25.00@ (b) 12.50
(cy 15.00 (d) 30.00

Find out an odd activity from the
following process of decision making
proposed by Simon ? y

(a) Intelligence activity

(b) Design activity =

(c) Choice activity

(d) Identification activity

The surface areas of two spheres are in
the ratio of 9 : 4. The ratio of their
volume are '

(a) 3:2 (b) 27:8%
(c) 81:16 @ 33:2¢2

Three sides of an ‘isosceles triangle are
represented by x + 1, 9 — x and 5x — 3.
How many such triangles are possible ?
(a) O (b) 1

(¢) 2 (dy 3%

Arrange the following in chronological
order and give the correct from the code
given below :

I. Line 1I. Circle
- IIL. Point . ING Sphere
Codes :

(a) 1L ILTand IV (b) L H TV and L
(¢) NLILHandIVe (d) IL 1 I and 1V
The alternative chart to pie chart is

(a) Step bar diagramg

(b) Rectangular chart

(c) Sphere

(d) None of the above
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